Missing Addends

Name: Score:

Fill in the the missing addends.

s00 + (] = 88
() + 231 = 543
s o+ () = 367 456+ (] = 633
() + 313 = 59 () + 135 = m
s + () = 22 469 + (] = 868

[j+ 659 = 890 C]+ 188 = 555

257+C]=668 101 +[j=218

+ 208 = 509 + 166 = 0622

+ 429 = 906 + 349 = 808

999

u

115+ C] - 265 801 +
C] + 322 = 441 C] + 146 = 345
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Answers

Fill in the the missing addends.

500 -+ - 878

+ 231 = 543

15+ (252] = 367 456+ = 633
286 + 313 = 599 637) + 135 = 772
105+ = 221 469 + [399] = 868
231) + 659 = 890 367) + 188 = 555
257 + [411] = 668 101+ = 218
301) + 208 = 509 456) + 166 = 622
477) + 429 = 906 459) + 349 = 808
15+ = 265 801  + =999

119) + 322 = 441 199] + 146 = 345
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